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Example Task:      Mrs. Smith has 4 oatmeal cookies, 5 chocolate cookies, and 6 peanut cookies.  
                        How many cookies does Mrs. Smith have? 

Student A:   
I put 4 counters on the ten frame for the oatmeal cookies. 
Then, I put 5 different color counters on the ten frame for the 
chocolate cookies. Then, I put another 6 color counters for the 
peanut cookies. Only one of the peanut cookies fit, so I had 5 
leftover. Ten and five more make 15 cookies.  Mrs. Smith has 
15 cookies. 

 
 

Student B:   
I used a number line.  First I jumped to 4, and 
then I jumped 5 more.  That’s 9. I broke up 6 
into 1 and 5 so I could jump 1 to make 10.  
Then, I jumped 5 more and got 15.  Mrs. Smith 
has 15 cookies.  

 

Student C:   
I wrote: 4 + 5 + 6 = 1.  I know 
that 4 and 6 equals 10, so the 
oatmeal and peanut equals 10 
cookies. Then I added the 5 
chocolate cookies.  10 and 5 is 
15. So, Mrs. Smith has 15 
cookies. 
           

 

/--0+1),+-)2"$3&,430+1)

"#$%&'#(!)*++!-%%!-'%!($1#5-9#!'$31&5(!$(*'<!%*AA&5&'#!(#5-#&<.6!!!
78!9-'!-%%!-'%!
($1#5-9#!'$31&5(!
)*#,*'!HC6:!

78!9-'!(0+4&!(#05.!
2501+&3(!),&5&!8!,-4&!
#0!-%%!I!'$31&5(6:

 
I used an open number line.  I started at 24.  I 
knew that I needed 6 more jumps to get to 
30.  So, I broke apart 8 into 6 and 2.  I took 6 
jumps to land on 30 and then 2 more.  I 
landed on 32.  So, there are 32 apples on the 
table. 
 

Student C: 
I turned 8 into 10 by adding 2 because it’s 
easier to add.  So, 24 and ten more is 34.  
But, since I added 2 extra, I had to take 
them off again.  34 minus 2 is 32.  There are 
32 apples on the table. 
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Student A: 
I would split the chocolate right down the middle.  That gives 
me 2 halves.  I have half a piece of the chocolate and my friend 
has the other half.   

 

 Student B: 
I would split it from corner to corner (diagonally).  My friend gets half of 
the chocolate and I get half.  See, if we cut on the line, the parts are the 
same size. 
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